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It got the license.

The permission descended from authorities .
Astronomy is a noble science .

He cried loudly.

This box doesn’t lift.
_ J

- 000 (ooo) N

I obtained a license.

That permission has come from the authorities.
Astronomy is a noble science.

He cried loudly.

This box won’t lift.
\_ J
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It got the license ||| I obtained a license ||| (0) (1) (2) (3) ||| (0) (1) (2) (3) |||
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The permission descended ||| That permission has come ||| (0) (1) (1,2,3) ||| (0)
(1,2) (2) (2) ||| 1.00 0.002 1.00 0.00

Astronomy ||| Astronomy ||| (0) ||| (0) ||| 1.00 1.00 1.00 1.00
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ooooooO(oooO)oooOoOoOoODO 22000004 0000)DO00O0O0O0OO
gogboobogilgdg2obod

0100000000
| | BLEU | METEOR |

| 0oooo00 | 01397 | 0.3844
ATLAS OO 0.1552 0.4216
D000 1 0.1877 0.4418
0000000 [ 0.1206 0.3888
IEGEEE 0.1721 0.4227

020000000000
| | BLEU | METEOR |

| 000000 | 01175 | 0.3531
ATLASO O 0.0942 0.3623
0000 1 0.1364 0.3806

0000000 | 00842 0.3522
0000 2 0.1346 0.3737

0000000000000000000000000 (ATLAS)DO0O0OOOOO 10
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03:0000000(00)

01
oood Oo0Oo0OoOoO0oo0ooooooooooooooDoDoo
gdad The company you inquired about was established in 19xx .
gooood The company was established in the O OO you , 19xx .
ooood1l The company that inquired was established in 19xx age .

02
oood o000 odooooDooDOoODOoOOoODOOoOOOOonao
oono The camp fire flames are burning brightly .
goooog The fire is burning brightly in the camp fire .
oooo1 The fire of the campfire is burning brightly .

03
oood 0000000 DODOOOd
oono The flag is drooping .
oooood are drooping flag .
oooo 1 The flag is hanging down .

040000000 (0000)

01
oood 00000000 ooODoODoODDoDO0obODbODbOOOOoOoD D
ooad Maeda flunked the entrance exams and is now attending yobiko .
gooood He has gone to Mr . 00O OO0 failed the exam .
goood 1 Maeda failed the exam and went to the prepschool .

02
oood Oo0oo0ooooDooooooooooaon
oono It stopped raining . Let’s close an umbrella .
ooooog The rain , so let’s have A 0 00 an umbrella .
oooo1 The rain has stopped , let’s folding umbrella .

O3
oood 00 0000000 DO DODOO000Oo0 00
oono If you are punished so , you will probably learn your lesson .
ooooog HeOOO ,youwillOOOODO .
oooo1 If that is punished , it will learn .
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05 0000x00(00)

01

gooo o000 ooobo o oo oo
gdad Don’t get so agitated .
gooood That’s not irritated .
oooo1 I don’t get irritated so much .

0 2
oooo 00000 o0o0o0ooooa
oono I'll bet you on it .
goooon I’ll bet with you about it .
oooo1 Let’s go by that with you .

06 0000x00(@O0O0)

01
oooo 00 0 0oobo oo oo oo
oono That is a very lenient way of dealing with the situation .
gooooo It was a very sweet step .
ogodo1 It is very sweet .

O 2
oooo 0000 0000 oooogano
0o It is not worth going out of your way to see it .
gooood Do not go to see value .
goood 1 There is no value of him .
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07 0000000(@00)

01

good 0ooboboo0oooobooooo o
gdad I cannot make out the meaning of this sentence .
gooood I don’t understand this sentence .
oooo1 I don’t know the meaning of this sentence .

O 2
oood 000000000000 oOOo0obO0DoOooooDbDaOo
oono The meat hissed and spluttered in the skillet .
goooono The meat DO 00O and sound OO O O OO in the pot .
oooo1 Meat made 0000000 O OO and noise in the pan .

08 0000000 @mOO0)

01
good 000 00 oo oo b0 oboo oo ouoogo o
oono We would like to discuss the terms of payment in more detail .
oooood I would like to talk to details about payment terms .
gooo1 I would like to discuss payment terms in detail .

O 2
good o0 o0ooooooboooogno
gdd He acquits himself well in everything .
gooood 00O even meant anything .
ooood1 kisnot 0OODOOODOO .
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09 0000=00(00)

ooono 00000 ooo0oooan
Ooon She came to see us .
ooooog She came to see us .
ooodol She came to see us .

0 10: 0000=00 (0000)

good 00000ooobouoooooooao
ERERE He gritted his teeth in pain .

oooood He clenched his teeth against the pain .
gooo1 He clenched his teeth against the pain .

g 11: 0odgg
dddo (OUbx (0ooob (bbhbob0O=

00 79 /100 6 /100 12 /100 3 /100
oooo0 | 49 /100 14 /100 33 /100 4 /100

gobboobboboogobbboooobobobuoooobobobbooogoooboa
goo“oobobobob"bobooooboobobboboboobooooobobon
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6 0O
6.1 UUUOLOUgoboobooood

0000000000000000 1000000000000 0 (ATLAS)OODOO
gbobobobobobolootobobobboboboboboboobobge2n
gboobooboobobobbobbobboob 1200 150000000000
led o0

012: 0000000 (00)

01
oooo 00 000 0000 o0ooooo o
goo The heater coil is burnt out .
ATLASO O The coil of an electric stove was able to be burnt off .
oooo 1 The coil of the electric heater has burned out .
O 2
oooo 00000 o0oooad
aooo He has an alcohol problem .
ATLASDO O It .. sake .. is drowned .
ooodl It is drowned in drink .

0 13: 0000000 (0000)

01
oood O0o0O0o0ooooooooo o
ooo I am embarrassed because my handwriting is so poor .
ATLAS DO O Because the character is unskilled , it is shameful .
oooo1 The writing is poor , so it is embarrassing .

02
oood 000000000000 ODODODODOoDOooOoogad

00 od

0on I have a vague impression that it was past two .
ATLASOO It recalls it at anything two o ’clock .. dopy ...
gooo1 It recalls two o’clock in the dim .
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014 0000x00(00)

01

oood 00000 OO0 00O O0ObOO0DbDooOOobOooDobaOo
gdad Clinton was apparently irritated by the situation .
ATLASOO President Clinton had obviously gotten irritated .
oooo1 Clinton has gotten obvious .

02
oood 00 0doD0oDo0DO0oOOooooo oo
godd She threw out the wild cat .
ATLASO O She threw out the homeless cat to the outside .
good 1 She threw the homeless in cat .

0 15: 0000x00(@0O00)

01
Ooood 000d0OOo0Oooooooooodobooooaaao
ooad One was an apple and the other was a banana .
ATLASOO One was an apple , and another was a banana .
gooo 1 There was an apple and another was a banana .

O 2
Ooood 000 0OD0o00OO0o0O0oOoooad
ooad He likes to play the joker .
ATLASOO I like to joke and to show it .
ooood1l I like to joke .

03
oood 000000000000 o0DoO0oo0oooooogaon
oono This road branches off to Grove City .
ATLASO O This road divides and runs to glove = city .
oooo1 This road is = and to gloves .
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0 le: 00dgg

00000 |O000Ox |00000 [0000=
00 (ATLASODO) 17 /100 9 /100 59 /100 15 /100
0000 (ATLASOO) 8 /100 42 /100 48 /100 2 /100
0000 (0Oo0D0000)| 4 /100 44 /100 51 /100 1 /100

gobobooooooooooobooob“boobboooboo’oboobooobogs
gobooooooo’oobooboobboooooooooooooobooswoogr
ggbbobuooobbobbboooobbbuooobboboood
gooooooboooboooooooboboooooooobo“cobDoboboon”
gobooobooo“coobboobboorbobooboobooobooboobOooDO
gogbbobugoobbobuoooobbbduoobobbboooobobbbouooobon
gbogbogbooboobooubooboobbooboboobuoobooboon
ggbbobuooobbboooobobuoooobboooon
O000000000000000 BLEUOOOOOOATLASOOOOOOO 4.22% O
O000000oooooOos4%000000000000o0o0o00ooooDoood
gogbobobuooooboobuoooobbbuooobbbooooboboboooobon
gbooboobobooboobuoobobobobbooboBLEUODOODOODO
gbobobodoooBLEUOOOOOD 4gram0 00000000 0O0O0OO0OOOOO
gbooboobobooboobuooboobobbooBLEUDDODOODOOD
goon
gobbbuogoobboogoobooboooobbobuoooobobbooooon
oOBLEUDOOOOODOOODOODLOObOoObOoDObOobDooboobooDg
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6.2 0O0OODOOO

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
gugbbbuooobbobuoooobbbduoobobbboooobobbbouooobbn
gbobooobobbooboboboobobobbooboboboob1roD
ggbbbooogbbobo1ooboon

0170000000

O 10o0)
oood 0000 D0OO0O0O00DO0 O0OoooO oo
ooo The meal opened with hors d’oeuvres .
goooog The meal began with the DO OO0 .
oooo1 The meal began with the hors-d 'oeuvre .
O 2
ooon 00oooo0DoooooooDoano
ooo The pairing were drawn by ballot .
goooon The combination O O in O .
goood1l The combination was determined by lot .
O1ooog)
oood 0000 00000 oboob oooo o
god Safe bind , safe find .
oooooad If you can O O properly properly .
ooood1 I have found it binds properly .
O 2
good Oo0odoodoboboobboobobObouoboboUoooobog
O
ooo A quail will remain in its cover until one draws very near .
ogooooo O 00 is hiding in the very near to some people .
oooo1 The quail lurks in the hiding place till I call so that are very close .
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018 00d00ggoo

00 0000
o0 | ooooo 00 | ooooo
IEEGEEE 3014 | 3480 | 4020 | 3576
ATLASO O 379 346 518 443
iRLEE 310 297 370 348
ooooooQ 665 588 770 642
oooog 2 446 429 492 461

goboboobobbobbodgoooobobobbiioboboog20000oaoobon
gogobobboobbbouodgoooobboobobbboodooooooboboboog1
gogobob20000000bbobuooobobobbuoooobobobogooobon
gogbbobuoooobbbooooobobod

gogbbbugdgobboooooobuooooboboboooobbbuoooobooon
gbooboooboobuoobuooboobobbobobooboooBLEUODDOOD
gboooboboboboooBLEUDOODODOODOODOODOOODDbOODbOObDOOD
gogooodg
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6.3 distortion-limit [ [0 [J

0’'000000000000000000D0OO0000OOOO00 1(ATLAS+
0000)0D000000000000000 “distortion-limit” 0000000000
gogbbobugodob19u020bo0oobbo210b000

0 19: distortion-lmit 0 00000000 (O0O)

01

gooo

oono
ATLASDO O
distortion=1
distortion=3
distortion=>6
distortion=12
distortion=-1

00000000 OooDo0ooooooOooDooooaoao
00O

I'm learning French from a French gentleman my father knows .
French is learnt from father ’s acquaintance ’s French .

French is learned from his father’s his acquaintances French .
French is learned from his father’s his acquaintances French .
French is learned from his father’s his acquaintances French .
French is learned from his father’s his acquaintances French .

I am learning French from my father’s his acquaintances French .

02

oooo
Oooo
ATLASDO O
distortion=1
distortion=3
distortion=6
distortion=12
distortion=-1

gopooooOOoOOoODODDODDDOOOd
Christmas comes but once a year .
Christmas comes only once a year .
Christmas comes once a year .

Christmas comes once a year .

Christmas comes once a year .

Christmas comes but once a year .
Christmas comes but once a year .
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00 20: distortion-limit 0 00000000 (DO0O0O)

01
oood 0000 o00O0O0oooODoobODoODDbODoDO0oO0obDbOoOOD oD
gon If you do not take this case to court , it we not be settled .
ATLASOO This event cannot be solved if it doesn 't take legal action .

distortion=1
distortion=3
distortion=6
distortion=12
distortion=-1

This problem can be solved if you do not take legal action .
This incident can be solved if you do not take legal action .
This problem can be solved if you do not take legal action .
This problem can be solved if you do not take legal action .
This incident can not be solved if you do not take legal action .

0 2

oood 0000 oooooooDooDoooodao

ooo I was the first to go to America , and my brother was the next to
go .

ATLASO O I went to the United States first , and , next , younger brother went

distortion=1
distortion=3
distortion=6
distortion=12
distortion=-1

I went to America first , and my brother went .

I went to America first , and then younger brother went .
I went to the United States , and my brother .

I went to the U .S ., and my brother .

I went to the United States first , and my brother went .

U21:00000000000000000

00 ooof
BLEU METEOR BLEU METEOR
ooooog 0.1397 0.3845 0.1175 0.3531
ATLASODO 0.1552 0.4216 0.0942 0.3623
oood
distortion=1 0.1878 0.4417 0.1389 0.3854
distortion=3 0.1870 0.4378 0.1356 0.3846
distortion=6 0.1877 0.4418 0.1364 0.3806
distortion=12 0.1871 0.4404 0.1398 0.3793
distortion=-1 0.1870 0.4404 0.1418 0.3865
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O0O000o0ogo “distortion-limit” 00000000000 0OOOOOOOOOO
gooobooooooooobooooobooOgn “distortion-limit” 00000000
gbbobbobbobbobudobuooboobobobbobbobbobbobobon
goobooooobooooooboooboboooooooooboOo0oDbO“distortion-
limit" 00000000000 DOO0DO0DOO0bOO0obOO0bO0obO0obD0obOobOoDbOoDOoD
gogbbobuogoobbobuoooobbbooobobbboooobboboooobon
gogbbbuoobbboooobbobuoooobboooon

gbbogobdgbbuoobbuooobooobboobbuoobobooobboon
O00O00OoDoODO “distortion-limit” OO0 D000 OO0ODOOOOOOOOOO
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7T gogg

gobbobuoooobbooogbooboooobbobuoooobbboooonbon
gbogbuodgbuogbooboboboobobbobooboobuoobooobogn
0000000000000 0000000000BLEUOOODO 13.97%00 18.77%0
4.80%0000METEORO O DO 38.44%0 0 44.18%0 5.74%0 0000000000
000000000000 00000BLEUDOOOO 11.75%0 0 13.64%0 1.89%0 O
OOMETEOROOODO 35.31%0 0 38.06%0 2.75%0000000000000000O
g

gobbbouoggobboooobooboooobbbuoooobobbuooooon
gogbbobuogoobobuoooobbbuoooobobbooooobobbouooooboon
gogbbobuoggobooboooobbbuoooobobbooooobobbouooonboon
gogbbobuoggobooboooobbbuoooobobbooooobobbouooonboon
ggbbobuogoobbboooobbboooooo
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HEN

gobbobuoooboobbboooobobobuoooobbobooogboobobod
gooobobo coooobooooboooboobooboobobooobooboboog
ggbbobuoogdgobbboobuoooobbbuoooobobooooboboobod
000000000 ABOOOODOODOOOODOOODOOOOOOODOODOOO
gogbobobuooooboooooobon
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